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Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max piscount Adda 24

Q. Which of the following allergic reactions results in decreased blood pressure
and shortness of breath?

(a) Anaphylaxis

(b) Hives

(c) Asthma

(d) Hay fever [SSC JE 24 Mar 2021 Shift1]

g. fFafaf@a # @ fra vestt gfafhar & aRumerasu wam & e 3R |
I dehelih Bl &7

(V) ueATithofrad

CIRER])

(HT) 3T

(3) =9 & @R [SSC JE 24 Mar 2021 Shift1]
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[@varshakumaris699 12 hours ago @ayushranjan728 5 hours ago
Option A is right answer... Anaphylaxis is a severe, potentially Jlife threating allergic H.w- Alanaphylaxis)

reaction @
e ' G Reply

iy ' GH Reply
[@Babitakumari-uilty 12 hours ago

@ @allaboutelectrical5774 11 hours ago Options -(c).... Asthma ... Thank you so much sir J, Ja da sasasa B & 6 ¥ & »
# Ans - (a) Anaphylaxis is the right option |4
(a) Anaphylaxis is the right option [%4 el GF Reply
Thank you so mUch sirji 4u s @ o v

|‘ 1 5‘1 Reply

i. [@Nkkushwaha-qz4zy 12 hours ago

@sudeepkumarbiswas3790 12 hours ago
(A) ANAPHYLAXIS

" Reply

mAmitKumar-mz8yg 12 hours ago

Opton A Anaphylaxis
THANK YOU SIR

very nice explain every session
A Anaphylaxis is a severe, potentially life-threatening allergic reaction.

e’ G Reply
It can occur within seconds or minutes of exposure to something you're allergic 1o, such

‘ @vaibhavd?7 12 hours ago as peanuts or bee stings.
I think = only & Anaphylaxis is related to Decrease BP and Shortness of Breath
y phy s ' GF Reply

@alcivilianhub5571 2 hours ago
Option A is correct sir

" Reply

And Astama is related to Breath

e ' GF Reply
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Adda
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[@DeepakKumar-yj%hi 11 hours ago 4 @shivanisingh14 12 hours ago
Anaphylaxis ) Ccc@
e ' 5P Reply e ' CP Reply
[@POOJAVERMA-gm3di 10 hours ago [@tathagatakonar6505 5 hours ago
Ans- A - Anaphylaxis Option C
e ' G Reply e CP Reply
@Takshak-_ 3 hours ago [@imamikumari3177 12 hours ago
Option & may be Aastha o a0 es
e ' G Reply e’ G Repy

e @_Rajan_Sahu 12 hours ago [@raviraj6659 12 hours ago
sir CORONA sun ki &3 layer hkya & & Ccec pr tala lagaeye & &
ik O Reply T Reply
@umashankarkumard72 & hours ago '3 v ([@alok3.0kumar50 12 hours ago
Due to ANAPHYLAXIS THE ALLERGIES REACTION DECREASE THE BLOOD .# & Hw_Asthama
PRESSURE AND shortening of breathing there may be causes our body locked &% & OF Reol
and causesof &3 vomiting pulse rate include rases, skin rashes and naushes thus ! Py

we can say that the Anaphylaxis is the correct [ ans and option AAAAAA
e 1 T Renlv
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Q. Which of the following allergic reactions results in decreased blood pressure
and shortness of breath?

(a) Anaphylaxis
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Phenomenon of Radioactivity was discovered

by

WAaFAaT Hrgear | grr @it i 715 A

A. Becquerel
B. Rutherford
C. Curle

D. Suri

e




Science | | Deepmani Bhardwaj | | Use Code- Y723 for Max piscount Adda

Phenomenon of Radioactivity was discovered

by

WAaFAaT Hrgear | grr @it i 715 A

A. Becquerel
B. Rutherford
C. Curle

D. Suri

e




Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max piscount Adda 24

Q. Which of the following is NOT a form of calcium carbonate?
(a) Lime water

(b) Limestone

(c) Chalk

(d) Marble [SSC JE 27 Jan 2018 Shift 2]

u. Aafaf@a # @ @i a1 FFRIA FEiac & T §T 860 &7

(T) A T Tlell

(sl1) AT T

(&) drh

(31) I [SSC JE 27 Jan 2018 Shift 2]
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Q. Which element is most electronegative among Arsenic, Nitrogen and
Phosphorus?

(a) Nitrogen

(b) Phosphorus

(c) Arsenic

(d) All these elements have equal electronegativity. [SSC]JE 27 Jan 2018 Shift 2]

U. 3TAAD, dAgleled 3N BEARA # A Pl A1 ded Jad 31 fagda 82
(T) A

(1) FRPRY

CGIIEIEIGED

(30 3 G deal Hr RANAHOMcADAT FAT Bl &

[SSC JE 27 Jan 2018 Shift 2]
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Q. Which of the following statement(s) is/are CORRECT for the critical angle?

I. Refractive angle is 90°.

II. Light ray goes from rarer to denser medium.

I11. Light ray goes from denser to rarer medium.

(a) Only I and II (b) Only I and III

(c) Only 1 (d) No statement is correct. [SSC]JE 27 Jan 2018 Shift 2]

q. Aeafaf@a & O dia a1 AT pifds Hor & ow @ &/82

. 3Uddd hIUT 90° gl

Il. UepT fopvoT feRer ATSIdH A 99 ATSH HA St §1

1. TepT ToRvoT o ATSIH ¥ foRe Aregd A ardr §1

(T) had 13R 11 () haer 131 W

() el | (37) PSS HAT T el o [SSC JE 27 Jan 2018 Shift 2]
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Q. To hear a distinct echo, the time interval between the original sound and
reflected sound must be at least

(a) 0.1 seconds

(b) 0.2 seconds

(c) 0.3 seconds

(d) 0.4 seconds [SSC JE 27 Jan 2018 Shift 2]

7. T e yfawafa gaa & for, #g w@fa 3R wafda «fa & & o a9
HAUT hH U HHA giar a1feu]

(T) 0.1 "3

() 0.2 ¥Phs

(&) 0.3 dFs

(3Y) 0.4 AFHs [SSC JE 27 Jan 2018 Shift 2]
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Q. Which among the following is NOT a conductor of electricity?

(a) Mercury

(b) Manganese

(c) Iron

(d) Ebonite [SSC JE 27 Jan 2018 Shift 2]
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Q. Which of the following statement is INCORRECT?

(a) An electric motor converts electric energy into mechanical energy.

(b) An electric generator works on the principle of electromagnetic induction.

(c) The magnetic field at the centre of a long circular coil carrying current will be
parallel straight lines.

(d) A wire with green insulation is usually the live wire. [SSC JE 27 Jan 2018 Shift 2]

. afaf@a & § ala a1 s Taa &2

(v) T faga AeX faga st A Fif3s Fon & gRafda a=dr &
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Q. Under which condition real gas can work as an ideal gas?

(a) High pressure and low temperature

(b) Low pressure and high temperature

(c) High pressure and high temperature

(d) Low pressure and low temperature [SSC JE 27 Jan 2018 Shift 2]

o R darafles A et T F T F FI R THAT & 2

(T) 3= ga1d 3R HH dTIAT
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Q. Scurvy is caused by a deficiency of which vitamin?

(a) Vitamin A

(b) Vitamin B

(c) Vitamin C

(d) Vitamin D [SSC JE 27 Jan 2018 Shift 2]

. &hdf W1 fhg Refa T e d Qar ¢ 2

(T) f[derfda ©

() Taerfde &€
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Q. The normal range of breathing rate per minute in an average adult person at
restis

(a)9-12

(b) 12 -18

(c)21-24

(d) 30-30 [SSC JE 27 Jan 2018 Shift 2]

. fOumd & g7 g 9 At # ufd @de aada & & e @A
gl §l
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Q. The number of protons in a Lithium nucleus is:
(a) Two

(b) Four

(c) Three

(d) One [SSC JE 24 Mar 2021 Shift 2]
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Q. The mass of an electron is nearly one upon times that of a proton.

(a) 3000

(b) 1500

(c) 2000

(d) 1000 [SSC JE 24 Mar 2021 Shift 2]

. Uch Soaciel &l AT IITHIT Teh Weld & AT BT B

(T) 3000

(1) 1500

(&) 2000

(3r) 1000 [SSC JE 24 Mar 2021 Shift 2]
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Q. is mainly derived from citrus fruits and juices such as lemons,
oranges and sweet limes/mousambis.

(a) Vitamin B

(b) Vitamin K

(c) Vitamin C

(d) Vitamin E [SSC JE 24 Mar 2021 Shift 2]
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(T) ferfaa &

(&) faefda &

(&) R @

@) AT s [SSC JE 24 Mar 2021 Shift 2]



Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max piscount Adda 24

Q. is mainly derived from citrus fruits and juices such as lemons,
oranges and sweet limes/mousambis.

(a) Vitamin B

(b) Vitamin K

(c) Vitamin C

(d) Vitamin E [SSC JE 24 Mar 2021 Shift 2]

. ALY §7 H W Bell IR W o g, FR IR @S
Aq/#AER F ug Tar g

(T) ferfaa &

(&) faefda &

(&) R @

@) AT s [SSC JE 24 Mar 2021 Shift 2]



Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max Discount Adda 247

Q. Which of the following scientific principles is mainly behind the generation of
hydroelectric power?

(a) Conversion of electrical energy into gravitational energy
(b) Conversion of gravitational potential energy into thermal energy
(c) Conversion of electrical energy into Kinetic energy

(d) Conversion of gravitational potential energy into electrical energy
[SSC JE 24 Mar 2021 Shift 2]

U. fAefaf@d d 4 $ia @1 d9fas Rgiad 4&9 &7 § Safagd Afh & Scuee & TS §7?
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Q. Who invented the X-ray?
(a) J] Thomson

(b) W K Roentgen

(c) Edwin Hubble

(d) Galileo Galilei [SSC JE 24 Mar 2021 Shift 2]
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Q. Amino acids are the building blocks of:

(a) minerals

(b) vitamins

(c) carbohydrates

(d) proteins [SSC JE 24 Mar 2021 Shift 2]
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Q. Which of the following is not related to Phylum Mollusca?
(a) Snail

(b) Antedon

(c) Octopus

(d) Chiton

. Aeafai@a & ¥ dla a1 99 FAedr ¥ Jf9d el &7
(T) =rem

() Tesia

(&) Mgy
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Q. Which of the following is not related to Phylum Mollusca?
(a) Snail

(b) Antedon(Echinodermata)

(c) Octopus

(d) Chiton

. Aeafai@a & ¥ dla a1 99 FAedr ¥ Jf9d el &7
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Q. Which of the following animals is NOT an example of Mollusca?
(a) Scolopendra

(b) Unio

(c) Octopus

(d) Snail

q. Ai@aa & ¥ dla a1 Saay ATGTEDT BT SETEI0T Tal 67
(T) Thieilg

() |9
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